

RESEARCH ARTICLE

AJMS

Riemann Integrals of Powers of Metallic Ratios

R. Sivaraman

Independent Postdoctoral Research Fellow, School of Science, British National University of Queen Mary, Delaware, USA

Received: 10-04-2021; Revised: 01-05-2021; Accepted: 10-06-2021

ABSTRACT

Metallic ratios are important class of numbers in mathematics which were discussed extensively right from ancient times. In this paper, treating the expression for kth metallic ratio as a continuous function, I had found new results for determining Riemann integrals of such functions over compact intervals of the form [0, n] for any natural number n.

Key words: Metallic Ratios, Recurrence Relation, Riemann Integrals, Compact Interval, Integration by Parts

INTRODUCTION

The study of golden ratio has been a subject from ancient time to modern times and had its influence in almost every branch of engineering and science. The sequence of numbers called metallic ratios in which golden ratio is its first term has created so much interest among professionals as well as amateur mathematicians and has led to various useful applications. Several papers in recent decades have been published related to the study of metallic ratios. In this paper, I will prove certain new results regarding determining Riemann integral of powers of metallic ratios.

DEFINITION

2.1 For any natural number *k*, the *k*th metallic ratio is a number defined as the positive root of the equation $x^2-kx-1=0$ (2.1). If we denote the *k*th metallic ratio by M_k then from Equation (2.1), we obtain

$$M_{k} = \frac{k + \sqrt{k^{2} + 4}}{2} (2.2),$$
$$-\frac{1}{M_{k}} = \frac{k - \sqrt{k^{2} + 4}}{2} (2.3).$$

2.2 For the values of k = 1, 2, 3 in Equation (2.2), the numbers obtained are called as golden, silver, and bronze ratios, respectively. Thus, the numbers

Address for correspondence: R. Sivaraman

E-mail: rsivaraman1729@yahoo.co.in

$$M_1 = \frac{1+\sqrt{5}}{2}, M_2 = 1+\sqrt{2}, M_3 = \frac{3+\sqrt{13}}{2}$$
 are

golden, silver, and bronze ratios, respectively. In this sense, golden, silver, and bronze ratios are special class of sequence of metallic ratios whose terms are given by Equation (2.2). For knowing more about metallic ratios and their properties.^[1-7]

RIEMANN INTEGRAL OF FIRST POWER OF METALLIC RATIOS

3.1 Theorem 1

If *n* is any natural number and if M_{K} is the *k*th metallic number, then

$$\int_{k=0}^{n} M_k \, dk = \frac{nM_n}{2} + \log_e(M_n) \quad (3.1)$$

Proof: Using Equation (2.2), integrating M_{K} over [0, n] we get

$$\int_{k=0}^{n} M_k \, dk = \int_{k=0}^{n} \left(\frac{k + \sqrt{k^2 + 4}}{2} \right) dk = \frac{n^2}{4} + \frac{1}{2}$$
$$\left[\frac{k\sqrt{k^2 + 4}}{2} + 2\log\left(k + \sqrt{k^2 + 4}\right) \right]_{k=0}^{n}$$
$$= \frac{n}{2} \left(\frac{n + \sqrt{n^2 + 4}}{2} \right) + \log_e \left(\frac{n + \sqrt{n^2 + 4}}{2} \right)$$
$$= \frac{nM_n}{2} + \log_e \left(M_n \right)$$

This completes the proof.

3.2 Theorem 2

If *n* is any natural number and if M_{K} is the *k*th metallic number, then

$$\int_{k=0}^{n} \frac{1}{M_{k}} dk = \frac{n}{2M_{n}} + \log_{e}(M_{n}) \quad (3.2)$$

Proof: Using Equation (2.3), integrating $\frac{1}{M_k}$ over [0, n] we get

$$\int_{k=0}^{n} \frac{1}{M_{k}} dk = \int_{k=0}^{n} \left(\frac{\sqrt{k^{2} + 4} - k}{2} \right) dk$$
$$= \frac{1}{2} \left[\frac{k\sqrt{k^{2} + 4}}{2} + 2\log\left(k + \sqrt{k^{2} + 4}\right) \right]_{k=0}^{n} - \frac{n^{2}}{4}$$
$$= \frac{n}{2} \left(\frac{\sqrt{n^{2} + 4} - n}{2} \right) + \log_{e} \left(\frac{n + \sqrt{n^{2} + 4}}{2} \right)$$
$$= \frac{n}{2M_{n}} + \log_{e} \left(M_{n} \right)$$

This completes the proof.

RIEMANN INTEGRAL OF SECOND POWER OF METALLIC RATIOS

4.1 Theorem 3

If *n* is any natural number and if M_k is the *k*th metallic number, then

$$\int_{k=0}^{n} M_k^2 dk = \frac{\left(n^3 + 6n - 8\right) + \left(2M_n - n\right)^3}{6} \quad (4.1)$$

Proof: Using Equation (2.2), integrating M_K over [0, n] we get

$$\int_{k=0}^{n} M_{k}^{2} dk = \int_{k=0}^{n} \left(\frac{k + \sqrt{k^{2} + 4}}{2}\right)^{2} dk = \frac{1}{4}$$

$$\int_{k=0}^{n} \left(2k^{2} + 4 + 2k\sqrt{k^{2} + 4}\right) dk = \frac{n^{3}}{6} + n + \frac{1}{2}$$

$$\int_{k=0}^{n} \sqrt{k^{2} + 4} \times k dk = \frac{n^{3}}{6} + n + \frac{1}{2} \int_{u=2}^{\sqrt{n^{2} + 4}} (u)(u \, du) = \frac{n^{3}}{6}$$

$$+ n + \frac{1}{6} \left(\left(n^{2} + 4\right)^{3/2} - 8\right) = \frac{(n^{3} + 6n - 8) + (n^{2} + 4)^{3/2}}{6}$$

$$= \frac{(n^{3} + 6n - 8) + (2M_{n} - n)^{3}}{6}$$

This completes the proof.

4.2 Theorem 4

If *n* is any natural number and if M_{K} is the *k*th metallic number, then

$$\int_{k=0}^{n} \frac{1}{M_{k}^{2}} dk = \frac{\left(n^{3} + 6n + 8\right) - \left(2M_{n} - n\right)^{3}}{6} \quad (4.2)$$

Proof: Using Equation (2.3), integrating $\frac{1}{M_k^2}$ over [0, n] we get

$$\int_{k=0}^{n} \frac{1}{M_k^2} dk = \int_{k=0}^{n} \left(\frac{k - \sqrt{k^2 + 4}}{2} \right)^2 dk$$
$$= \frac{1}{4} \int_{k=0}^{n} \left(2k^2 + 4 - 2k\sqrt{k^2 + 4} \right) dk$$
$$= \frac{n^3}{6} + n - \frac{1}{2} \int_{k=0}^{n} \sqrt{k^2 + 4} \times k dk$$
$$= \frac{n^3}{6} + n - \frac{1}{2} \int_{u=2}^{\sqrt{n^2 + 4}} (u)(u \, du)$$
$$= \frac{n^3}{6} + n - \frac{1}{6} \left(\left(n^2 + 4 \right)^{3/2} - 8 \right)$$
$$= \frac{(n^3 + 6n + 8) - (n^2 + 4)^{3/2}}{6}$$

$$=\frac{(n^3+6n+8)-(2M_n-n)^3}{6}$$

This completes the proof.

RIEMANN INTEGRAL OF THIRD POWER OF METALLIC RATIOS

5.1 Theorem 5

If *n* is any natural number and if M_{K} is the *k*th metallic number, then

$$\int_{k=0}^{n} M_k^3 dk = \frac{n(2M_n - n)^3 + (n^4 + 6n^2)}{8}$$
(5.1)

Proof: Using Equation (2.2), integrating M_k over [0, n] we get

AJMS/Apr-Jun-2021/Vol 5/Issue 2

$$\int_{k=0}^{n} M_{k}^{3} dk = \int_{k=0}^{n} \left(\frac{k + \sqrt{k^{2} + 4}}{2} \right)^{3} dk$$

$$= \frac{1}{8} \int_{k=0}^{n} \left(k^{3} + 3k^{2} \sqrt{k^{2} + 4} + 3k(k^{2} + 4) + (k^{2} + 4)^{3/2} \right)$$

$$dk = \frac{1}{8} \int_{k=0}^{n} \left(4k^{3} + 12k \right) dk + \frac{3}{8} \int_{k=0}^{n} k^{2} \sqrt{k^{2} + 4} dk + \frac{1}{8} \int_{k=0}^{n} \left(k^{2} + 4 \right)^{3/2} dk = \frac{n^{4} + 6n^{2}}{8} + \frac{1}{2} \int_{k=0}^{n} \left(k^{2} + 4 \right)^{3/2} dk - \frac{3}{2} \int_{k=0}^{n} \sqrt{k^{2} + 4} dk$$

I now try to calculate the second term $\int_{k=0}^{n} (k^2 + 4)^{3/2} dk$ using integration by parts formula

$$\int_{k=0}^{n} (k^{2} + 4)^{3/2} dk = \left[k (k^{2} + 4)^{3/2} \right]_{k=0}^{n}$$
$$- \int_{k=0}^{n} 3k^{2} \sqrt{k^{2} + 4} dk = n (n^{2} + 4)^{3/2}$$
$$- 3 \int_{k=0}^{n} (k^{2} + 4)^{3/2} dk + 12 \int_{k=0}^{n} \sqrt{k^{2} + 4} dk$$

Hence, we get

$$\int_{k=0}^{n} \left(k^{2}+4\right)^{3/2} dk = \frac{n\left(n^{2}+4\right)^{3/2}}{4} + 3\int_{k=0}^{n} \sqrt{k^{2}+4} dk$$

Substituting this value in the required expression we get

$$\int_{k=0}^{n} M_{k}^{3} dk = \frac{n^{4} + 6n^{2}}{8} + \frac{n(n^{2} + 4)^{3/2}}{8}$$
$$= \frac{(n^{4} + 6n^{2}) + n(2M_{n} - n)^{3}}{8}$$

This completes the proof.

5.2 Theorem 6

If *n* is any natural number and if M_{k} is the *k*th metallic number, then

$$\int_{k=0}^{n} \frac{1}{M_{k}^{3}} dk = \frac{n(2M_{n}-n)^{3} - (n^{4}+6n^{2})}{8}$$
(5.2)

Proof: Using (2.3), integrating $\frac{1}{M_k^3}$ over [0, n] we

get

$$\int_{k=0}^{n} \frac{1}{M_{k}^{3}} dk = \int_{k=0}^{n} \left(\frac{\sqrt{k^{2} + 4} - k}{2} \right)^{3} dk$$
$$= \frac{1}{8} \int_{k=0}^{n} \left(\frac{(k^{2} + 4)^{3/2} - 3k(k^{2} + 4)}{+3k^{2}\sqrt{k^{2} + 4} - k^{3}} \right) dk$$
$$= -\frac{1}{8} \int_{k=0}^{n} (4k^{3} + 12k) dk + \frac{3}{8} \int_{k=0}^{n} k^{2}\sqrt{k^{2} + 4} dk + \frac{1}{8} \int_{k=0}^{n} (k^{2} + 4)^{3/2} dk = -\left(\frac{n^{4} + 6n^{2}}{8}\right)$$
$$+ \frac{1}{2} \int_{k=0}^{n} (k^{2} + 4)^{3/2} dk - \frac{3}{2} \int_{k=0}^{n} \sqrt{k^{2} + 4} dk$$

Using the expression

$$\int_{k=0}^{n} \left(k^{2} + 4\right)^{3/2} dk = \frac{n\left(n^{2} + 4\right)^{3/2}}{4} + 3\int_{k=0}^{n} \sqrt{k^{2} + 4} dk$$

derived above we get

$$\int_{k=0}^{n} \frac{1}{M_k^3} dk = -\left(\frac{n^4 + 6n^2}{8}\right) + \frac{n(n^2 + 4)^{3/2}}{8}$$
$$= \frac{n(2M_n - n)^3 - (n^4 + 6n^2)}{8}$$

This completes the proof.

CONCLUSION

In this paper, through theorems 1 to 6 established in sections 3, 4, and 5, I had obtained nice expressions for computing Riemann integral of the first three powers of metallic ratios and their corresponding reciprocals. These results are valid because the formula for *k*th metallic ratio in Equation (2.2) is a continuous function and any continuous function is Riemann integrable over a compact interval which in this case is [0, n]. One can try to generalize the formulas obtained for general integral powers of metallic ratios and their corresponding reciprocals. These results may provide new insights into already known properties of metallic ratios.

REFERENCES

- Sivaraman R. Three interesting properties of metallic ratios. J Contemp Issues Bus Gov 2021;27: 1060-2.
- 2. Sivaraman R. Relation between terms of sequences and integral powers of metallic ratios. Turk J Physiother Rehabil 2021;32:1308-11.
- 3. Sivaraman R. Expressing numbers in terms of golden, silver and bronze ratios. Turk J Comput Mathe Educ

2021;12:2876-80.

- 4. Gil JB, Worley A. Generalized metallic means. Fibonacci Quart 2019;57:45-50.
- 5. Hare K, Prodinger H, Shallit J. Three series for the generalized golden mean. Fibonacci Quart 2014;52: 307-13.
- 6. Sivaraman R. Exploring metallic ratios, mathematics and statistics. Mathe Statist 2020;8:388-91.
- 7. Krcadinac V. A new generalization of the golden ratio. Fibonacci Quart 2006;44:335-40.